S€/ Lo @/cepsc—rs/ETRX/M 9 P/S5-12-20!7
O“T P. Code: 13589
(3 Hours) - Total Marks: 80

N.B. 1) Question number 1 is compulsory.
2) Attempt any three from remaining five questions.
3) Assume suitable data wherever necessary. '
4) Figure to the right indicates full marks.

Q1. Attempt any four from the following il I R
a) At reset, interrupts in 8086 processor are dlsabled lee re{on

b) List the differences between 8086 and 8088 processor

-~ (20)

in‘8l " approprlate examples
AN\ (10)
1 8259 — features and operation. (10)

Q3) a) Explain 8086- 8087 cop roces‘ or copfiguration in maximum mode of
operat|on | e § . . "

b) Explain the 8086 mstructlo r nemonics using examples
a) DAA -b-)MU L S 1C

: I8 ""d)’PUS‘_H - e)IMP&IC (10)

(10)

processor SRy P . & (10)
b) Usnng the k representatlon explaln the DMA controller 8237.(10)
, QS) ) of 8086 processor. What is the need for memory
: write a program in 8086 assembly to obtain the
of t_e_n b_Vtes (assu me and state the relevant additional data

yiredy, IR (10)
) @ > a bnef note on programmable peripheral interface (PPI) IC — 8255
nd fts, modes of operation. ~ (10)

0! lng stnng instructions write a program in 8086 assembly to copy a block ten
“hytes initialized in data segment to extra segment. Assume the necessary details.

(10)
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